
 

 

REASONING QUIZ 

Number Classification Reasoning Questions 
Q1 :  Choose the odd word/letters/number pair from the given alternatives. 

(A) 289 

(B) 576 

(C) 512 

(D) 841 

Q2 : In this question, four words have been given, out of which three are alike in 

some manner and the fourth one is different. Choose out the odd one? 

(A) Cheese 

(B) Butter 

(C) Milk 

(D) Curd 

Q3 :  Direction: In each of the following questions, four words have been given, 

out of which three are alike in some manner and the fourth one is different. 

Choose out the odd one. 

(A) Cube 

(B) Triangle 

(C) Rectangle 

(D) Square 

Q4 : Three of the following four words are alike in a certain way and one 

is  different. Pick the odd one out. 

(A) Seismology 

(B) Terminology 

(C) Cardiology 

(D) Pedology 

Q5 : Choose the odd word/letters/number from the given alternatives 



 

 

(A) Europe 

(B) Africa 

(C) Asia 

(D) Canada 

Q6 : Three of the following four letters are alike in a certain way and one is 

different. Pick the odd one out. 

(A) V 

(B) U 

(C) E 

(D) I 

Q7 : In the following question, select the one which is different from other options. 

(A) ACB 

(B) GIH 

(C) MCN 

(D) PQR 

Q8 : In the following Questions, select the odd number from the given alternatives. 

(A) Foreword 

(B) Text 

(C) Index 

(D) Perface 

Q9 : In the following question, select the one which is different from the other 

options. 

(A) 32 - 59 

(B) 45-25 

(C) 67-47 

(D) 53-33 

Q10 : Direction: - Select the odd word from the given alternatives. 

(A) Veranda 

(B) Cabin 



 

 

(C) Room 

(D) Chamber 

Q11. Which one does not belong to the group? 

(A) 326 

(B) 248 

(C) 392 

(D) 414 

Q12. Which one does not belong to the group? 

(A) 84 

(B) 63 

(C) 98 

(D) 91 

(E) 65 

Q13. Which one does not belong to the group? 

(A) 20-10 

(B) 15-12 

(C) 45-27 

(D) 30-18 

Q14. Which one does not belong to the group? 

(A) 27 

(B) 39 

(C) 42 

(D) 48 

(E) 24 

Q15. Which one does not belong to the group? 

(A) 7324 

(B) 9611 

(C) 1754 

(D) 2690 



 

 

Q16. Which one does not belong to the group? 

(A) 96 

(B) 72 

(C) 28 

(D) 48 

(E) 82 

Q17. Which one does not belong to the group? 

(A) 16-24 

(B) 19-27 

(C) 13-21 

(D) 15-23 

Q18. Which one does not belong to the group? 

(A) 123 

(B) 119 

(C) 133 

(D) 143 

(E) 149 

Q19. Which one does not belong to the group? 

(A) 64 – 8 

(B) 80 – 9 

(C) 7 – 49 

(D) 36 – 6 

Q20. Which one does not belong to the group? 

(A) 9 

(B) 25 

(C) 16 

(D) 8 

(E) 4 

Q21. Which one does not belong to the group? 



 

 

(A) 39 

(B) 21 

(C) 83 

(D) 51 

Q22. Which one does not belong to the group? 

(A) 19 

(B) 17 

(C) 29 

(D) 23 

(E) 27 

Q23. Which one does not belong to the group? 

(A) 34, 4, 8 

(B) 22, 4, 5 

(C) 54, 4, 13 

(D) 37, 4, 9 

Q24. Which one does not belong to the group? 

(A) 5 

(B) 3 

(C) 13 

(D) 11 

(E) 9. 

Q25. Which one does not belong to the group? 

(A) 161 

(B) 115 

(C) 391 

(D) 253 

(E) 345 

 

 



 

 

 

ANSWER 

1.   C 

2.   C 

3.   A 

4.   B 

5.   D 

6.   A 

7.   D 

8.   C 

9.   A 

10. A 

11. C 

12. E 

13. A 

14. A 

15. A 

16. E 

17. A 

18. B 

19. B 

20. D 

21. C 

22. E 

23. D 

24. E 

25. E 

 



 

 

 


